MARCELLIN COLLEGE RANDWICK

YEAR 11
EXTENSION'1

" PRELIMINARY ASSESSIMIEENT TASK 1

2016
STUDENT NAME: " MARK /31
TEACHER: _
TIME ALLOWED: 45 minutes .
WEIGHTING: '40 % {of Preliminary Mark}
Directions:

o Answer multiple choice questions on the page provided.
s Use anew sheet for additional questions.

» Show all necessary working. Where more than one mark is allocated to a question,

full marks may not be awarded for answers only.
= Marks may not be awarded for careless or badly arranged work.
o Calculators may be used :

Question 1°(16 marks)
Marks

i} '1_—x>'—'1

i) Ja&y+5+y=10 3

X+2 i-2x

) g 2%Tn 3
b.  Graphthe curve ‘ 3
X
T
¢.  Aisthe point (—1,5) and B is the paint (2, —3). Find the
coordinates of the point P that divides the interval AB internally 2
in the ratio of 1: 2
d. i Show that the point of intersection of the curves y = x% — 1 1
andy = x? —4x + 3 occurs whenx = 1
ii) Hence or otherwise, find the acute angle between the two 2

curves (to the nearest degree)




Question 2 (15 marks)

a. Find the exact value of siri 15°

b. i} Expresssinx ++3 cosx inthe form r sin(x + a)

where 0 € a < 90°

i) Hence or otherwise, solve sinx + V3eosx =1

c. i} Showthat

" _1~c0523

t g —
Y = cos 28
where cos 28 # —1

‘i) Hence or etherwise, find the exact value of tan 22.5°

d. Atower PQ of height h metres has an angle of elevation of 13° at a point
A due east of it. From another point B, the bearing of the tower is 050°

and the angle of elevation 10°. The points A and B are 1000 metres apart
on the same level as the towers base

) Showthat LAQB = 140°

if) Calculate h to the nearest metre

lﬂ'llD Ol' STEDIIS

AUTH maLEy

4l
Student Number: «.........ovvevceeeeerenannss

- Centre Number: ........co.ooooovov

Qy ‘F"lf >

T,

201-) > {-#)°
2(1-1) ENEE

)(] I__l*] fi- }(}J >o

(1<
”)L) f?*lf. L
M

1,3 _*,/ /

L L) ,y>3 v

\') {“’jﬁs H 19-4

AWEERRGIS)

q’j +5 - 1oy Z«j}»\\j‘

N :j’; 'z(fj 196

253459 -I5
\-‘—_——-‘——-

- 3

pATE N

———

z

T }l’ ov )

H {Fis =lo-Yf

does wod ek

o=

15 dhe Salydy,,




M Student Number: ....ovveeveeeeivrenne

ROALD DE ERODLEY
WEN IDVTS WaiTY

wereenne. Centre Number: ...y,

el X2, .
L)i<i e
. ]i"! e W ‘Liz—.'
H- ]
-
24 PR
N LR

"4{2*1 Hoe

fu -}){‘1-5‘) =3

AR
= Wil
A’
[4'BEYE Y /
o3 TV 3

b) 331—3?’ yd

k- W '
\j lf\*,b \[’756?_\— -0
, Wi~ Rt

')l.-;\'\ i "
Y
~ .
fad 2
fhal « =5 -

X)

--"‘Th) L - ‘%{;) I sk

i
0£M 'ﬁh(‘““\ " ] I\ i

ii\\‘\'!'f

R

TEE AL i
L:}/
srreessennnnnn. Ce0ltre Numnber:

Student Number: ..............

BOLED 87 BEDOES

:::::::::::::

O pls) b o)

-
A)i) 3y b3
Yoo atiwys
M\
\—S{lu =
. #3
\
N
Il) 3:2)(. j‘;l)“‘\‘

Yo | 3

'3‘“\\9;% H
8- 5'3” [‘Mﬁtcj} _‘kjh’c) 2 '
\\\‘

Ve, o Siwo chlboss
~ Sinbores %5 - Cosbelin §3

L L L ——
T 2 I i T S
y W el § LY

T _{i 3
S e

A:e




_E'L1 SrudentiNumber e LBNITE INUIMIDELL oot

RSN unllx T

})) ’1)‘ Sﬁnﬂﬁ [ ©&itqe

gy Y 83

R. {Thge 2 {xdbo’) / I

-... Centre Number: ......ocevveveernnn.

-AIZ— Student ?}umber?

'nn.un ovnnlu B

R S ¢

- ‘l -

B S i < 7;-.'.| gn‘l!{d_ ‘-Ir);aﬁfk
;1 3 \!,.Hcfhﬂc !sﬂ&k £ L B84 250 Yo, /

Janb < ‘r}:
Qb9

i | ‘ !
‘ l\‘w‘iw\t-

D& RS e OLxL2T

*h) Snf\[l_:“bbj _ , ‘7&1113 T‘/

1 iC ¥ T %o’ or 4¢

c] 4 nle \efel 2™

1} tefte
M o l-wfe) o sde | dwle o LB / >
(B i{“s% -i} Trvstes

2N
( ‘\'!)) Agnlsp kY doa g

e 0o G5y ara

Yan & 24
S sy - I
P T [ Y
LRI Py

T TTNBING T T

‘6?(\J?QP'1”z5,mﬁ, Ry 2 e’ 2
ATTH® |
W) diago - S gyl A8
h b
@y :lT‘]M‘SO fas L\H-hh' :

Y L . ]
ozt - hikenlgy 1h wa?] - [z:{l\xkqmm,;,yﬁqum.,)

frogt 2 111( Yantgo § dzy 3 dengedany (o)

2 J#so®

Tl L h'7? - Z,iauwh‘ﬂ(ogﬁg/ -~

h

11:-, 16bm ("lc‘u‘gﬂ h‘(’:}m

T O e T AT eI




